R EEERATA A — b v 75



HO\FEFERRITA A — ey 78 BEEEH R

Z 74 o ok =< iva B 2 i

WA T B B A AR S — MRY it 842

AT —PRY m 134
RUF 7Y a—A 25075 R m 25.0

25174 Ha% m 58.0
AT 500 X 500 X 500 i 3
o+ Ak m3 107
Bt T m3 67

] m3 3
7% AL ZOHALE m3 37
I HiEmE B it 102
Bk B nf 30
REHEmEE B nf 630
R KA B ot 30




ol

BEEBRT

B EEREE D —RY

841.8

842

WAES—REYT

134.0

134

RUFI)a—LA

25.00

25.0

58.00

58.0

EEMT

500 X 500 % 500

(0 ck=18N/mm?)

s

106.8

107

Bt

&

66.9

67

Bt

m

3.1

RLAE

106.8—(67+3)

36.8

37

(ZDIH0HE)

P LiEmEitE

102.0

102

Y1k FmEitE

30.0

30

BAmEiTE

629.6

630

BEKFmEitE

30.0

30

il




tHEE

=011}

BEART B #E

BREDYHIEITX
(SO T RB—TIK)

HRALHTEIIR (S=1 : 20) e BARME (5=1 - 40)

700 700

NVDIARE—

EEBEMIEEES — b

i A A A A

i i i

100m & 1=Y

FAREE=E (S=1 : 20)

(RigEL)

=l HE & X # =
BEiEBRT [E& 100mm /3297 X2— #£12,000mm X $%12,500mm = 105.00 1050 m
m TSZAFYIHL L=500mm = 400 40 &K
E+x (EITA~FHLEFEH) = 116 11.6 m3

— AR ERR 020 A
EET 2.00 A
LEEXE 380 A
INH IR EER 0.6m3#k 1.60 hr




ES—MEYT B L =S EE 100mi &ty

OYEREFHIEEEY— T BES— 24 T) FEETR

(FL—=YY—FHAZIE) No Scale
EEm BEERMR

1000 | /  KEEST L=150

[

| i

|

| |

& ol 7 O® K OB H =

;‘fﬁﬁfﬁihﬁi KL—>S—FHA 181,000mm X £ &10,000mm = 11000 1100 ni
bNEED) L=150 = 441,00 4410 K

LEEEE 180 A




RNUFI7)a—A BN =AE8E 10m%7=Y

R2FT1) 12— L2508 b [X

S=1:20
1000
BRI FAOmMEL T

B Al g & E B B =B
ANUFDa—L | 2508 250 x 175 x 1000mm/ & = 10.000 10.00 m
HBEET t=10cm A=0.45 %X 10.00 = 4500 450 m
(BERE BAHE

40mmLELTF)

K i V=0.6 X 0.4 X 10.0 = 240 24 m?

R 2.4-0.31 X 0.21 X 10.0-0.45 X 0.10 X 10.0 = 1.30 1.3 m?

v tmit LT 0.45 x 10.00 = 045 05 m




EAMWI B HEFEE 1.0 7Y

Kk THEE
$=1:20
T m Wi @
800 800
150 500 15 150 500 150
— ]
o ; = = = él; BF250 BF250 %
e o 8 8 ¢ 7 mmn e
e ! 50,

BANBEONLUT

' Al HE v E w #H =
Ea H)—pk V=0.80 X 0.80 X 065-0.50 X 0.50 X 0.50-0.31 X 0.21
(0 ck=18N/mm?) x0.15%2 = 0271 027 m®
il e — 2
INETH ey A=0.80 X 0.65 X 4+0.50 X 0.50 X 4-0.31 X 0.21 X 2 X 2
2.820 2.82 m
HEEH _ P
ST I 156m 1.00%1.00 x 1 = 1.000 100 o
S _ .
6T = 150m Q.90%0.90 x1 = 0810 081 ni
(BERA RAHE
40mmELTF)
FRiE 1.4x1.4%0.65+0.9 X 0.9 %X 0.15 = 1.39 14 m®
HERE 1.0-0.8 X 0.8 X 0.65-0.9 X 0.9 X 0.15 = 046 05 m?
vtmEt Lt 09%09x1 = 081 08 m




8 90T 0°0¢ i o

=

E

=

E

3

|

3

=

3

H

=

H

GZ1 0S 2 0°¢ 00 0£+0 ON =

E

¥LT 06 2 079 00 'GZ+0 ON =

|

9°0T G692 0¥ 00 61+0 ON =

=]

9°8 G1 2 0% 00 GT+0 ON =

=

L°Gg G6 € c9 00 11+0 ON =

g

0°2¢ 012 Sy 0S 7+0 ON =

=

0°0 00 °0+0 ON =

H

-t Ex pary L1 1 By Bz 7k kﬁm i

i HE 4% i i
0

F &5 O H T




1°¢ 6 99 0°0¢ 4 &
=
z
=
z
=
g
=
5
=x
g
=
5
g0 O ° L T°0 00 0°G 00 °0€+0 ON =ZFE
E
9°0 0T" T° ¢ 91 0L° 09 00 'G2+0 'ON =
g
70 0T" il 0°TT GL- 0% 00 '6T+0 ON ==
e
70 (1 T° ¢ 0T GG~ 0% 00 "ST+0 'ON =
Z
L0 0T" TI- ¢ LT g9~ g9 00 'TT+0 ON ==
B
G0 0T~ T ¢ 'cT 0L~ Sy 0§ 7+0 ON ==
2
00 T 00" 0°0 00 °0+0 ON ==
B
B & &E W W | & ] AN "
T 9 B alT £ 0 B i

z ¥ i
=~/




0°0¢€ 0 20T 0 °0¢€ £ 8
=
=
53
H
E3
H
£
H
=3
H
=
=
0°g 00T 0T 0 20T 0% 02 ¥ 08 07§ 00°06+0 N =
E
09 00°T 0T 0°0 000 v °0¢ 0°9 00°92+0 ON =
=
07 00T 0°T 07 00 '6T+0 ON =
=
07 00°T 0T 07 00 ST+0 ON =
H
59 00°T 0°T 9 00 TI+0 N =
H
S 00°T 0T S 08 7+0 ON =
H
000 0T 0°0 00 0+0 ON =
2
B |& = a B & 7| E 5_% | i
L T H =& + @B T B B O #H F OB i

14

5y

1l




0°0€ 9629 0°0¢€ T
=
H
E3
H
E3
=
=3
=
=3
=
3
2
0°§ 00°06+0 ON =
H
2L 9 °T¥1 09 €3 9°€3 079 00°SZ+0 N =
H
87¥ 896 02 72 9°€3 0% 00 61+0 ON =
H
87 9°00T ST 'S¢ 872 0% 00 'ST+0 ON =
H
8L €691 50 '9% G "2 g9 00 TI+0 ON =
E
V'S €121 56 ‘92 992 Sy 0§ 7+0 ON =
H
€°L3 0°0 00°0+0 N
H
B i B & o i )
£ ‘ il

£ H T B B # F =

IE

5y

Ll




EE R TEAER AR (BEERHRET — D)

#E| Bl S 15w
B
@ | 11.0 X 3.2 = 35. 20
@ | 11.0 X 2.9 = 31. 90
@ | 10.8 X 2.6 = 28. 08
@ | 10.8 X 3.2 = 34. 56
® | 10.7 X 3.3 = 35. 31
® | 10.7 X 2.0 = 21. 40
@ | 109 X 2.5 = 27. 25
10.9 X 3.8 = 41, 42
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® 8.2 X 4.2 = 34. 44
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7.1 X 1.9 = 13. 49
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